(w<+-2=] ([ 82+ =] (g2+11=) (®2+-0=]

AR %ﬂﬁﬁtﬁﬁ%
= ] (&2t

A= ol sn )
srgy — X o e — S o — 2 o ER g
ot | %4; |
o B
2 4
| omi =X
<
o= "
= o)
— Jnr = «
o X1Ih o O fiF & |%_HO$HEH %, o%mﬁ
7R
0 BIR — o #W
—O0 X

RERBRAEL
&W% NANER B sziigam e

=X

—O &
o

b 3o Sy
e %ﬂo ey o O FE

A 42
o i 2 o g
o IR — o

= ¢




(wR+1E ] (g2+3= ] (g2+smE) (g2+dg) (g3+vz)
29 zo£§||ﬁwﬁm "
o
1 B T 2 108 4 B R
I —O FH#H ;o_ﬁ%ﬂ %HO_\ N
oy MF
Lo 1B
w7 O R
0] 5= ke oRIN)=a 2
774,
1
w7 ORK
Ly , 2% ') v
o i h,oﬁﬂ|w%@@é :
m rﬁ% &&Tm‘ E G ES gy
i/ moHr N
®] OWE
= % 5o
S O£L|umwﬁﬁ E
K7 ORK
1 3% Rt L
Sy TRy
el %4,
K7 ORI
B — o B .Jﬁwwqum e
ol
W0 \ D
FYIE Py o B HA
oy




5.2 AL

gy
peghy |ﬁ NN
=
w] O BHER
%? W i3 1
A% O FHHR T © IR
LW
o iy T
. LS
O %
X | ﬁ.ﬁ

RERBRAEL
&W% NANER B sziigam e




